ok 540 k9] groll BAglel A AU 1, xy o] ghe Fatelt

kol giste] Wdzeo = A2|shd
(2x4+3y+5)k+(3x-y=-9)=0
o|AL2 kol tiet 5 AlolE=

2x+3y+5=0
3x-y—-9=0
AYLPAL FA v =2, y= -3

=-6

w
~

Ly =2x%(-




(y—z)c—4z=00°] x, y, 29| Fkoll Aol T4

@ 4 @ 8 3)16 @ 32 ® 64

x,y,z°l sl A 2]stA
(a=b)x+(a+b-c)y+(c-4)z=0
x, y, zol digt &5Aolm=z
a=b,a+b—-c=0,c=4
Ta=b=2 ¢c=4

. abc = 16




F()E (x+3)(x—6) &2 F30E& W o] U 2|7} x-20] 3l
(x+3) 22 Wede o] YA E Fohd?

f(=3)=-5




4. (B-x2-2x+1° =ag+a1(x—1) +ay(x—=1)2 + -+ ay5(x - 1)15
AW, ap+az +as + -+ a14 & F= Fotofet

> E

> ®Ee: 1

B ‘

ofo] x = 02 HfsHH
1:a0—a1 —|—a2—..._a15...®
ool x = 2E HYUSHH

l=ay+ar+ax+--+ai; ---©
Q@+ 0= s
2:2(a0+02+"'+a14)°]‘:]‘.
Tagtas+--rau=1




o] f(x) S x+12 e Yo A7F -30] 1, x-3 2 2 Ui ] #]7}
501tk (1) E (x+1)(x-3) 2 & vje) Yoz & Fojofal,

f(=1)=-3, f(3)=5
f)=x+1)(x-3)0(x)+ax+b
—-a+b=-3,3a+b=5
a=2,b=-1

SLoax+b=2x-1




OFx+1Ex+12 e 52 0(x) L g

A g atelet,
>

> ®™eth: 2

~&B

P¥+x+1=(x+1)0(x)+R
x=-1< FHo idstH R=-1

LA +x+1=(x+1)0x) -1---O
O(x)E x- 1= e U A= 0(1)
@l x =12 st 3=20(1) - 1
L 01)=2




xO tiE ohaFA] 3+ ax? — x4+ b2 x—3 2 RS o B3 Ue 2=
ot 22 YA OR oL St a+ b+ c+d+ k9] HE
=23

@ 19 @ 20 @ 21 @ 22 @23

T 3 4 ax® —x+ b2 x- 32 U S mo] &3 YRS
ZHAYE o]-gsto] Fohd ohZt 2ot
1 a -1 b

3 3a+9 9a + 24

1 a+3 3a+8 | 9%+b+24

ol k=3,c=3,a+3=43a+9=d,9a+b+24 =37
olmg

k=3,c=3,a=1,d=12,b=14

ot g+ b+c+d+k=1+4+3+12+3=23
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9. flx)=33-x+2¥¢ M, f(x+1) = Ax*>+ Bx> + Cx+ DO|T}.

. A+B+C+ D2 Zk& F514H ?

@ 4 @ 14 (E§)24 @ 34 ® 44

8

=
AL

1) =Ax*+Bx* + Cx+ D o x =1 & H4stH
A+B+C+DolB=2

T5t7] flei =

33 —x+2°x=2F HdstH
3x28-2+4+2=24

NS

I

=

i Ta T T
\BV\I:D/\_/

B

x+1=r2StH,
f(t)=A@t-13+B(t-1)>+C(t-1)+D

113 0 2
2

1] 3

F

|
© o o L

1] 3

3|9
L A=3,B=9, C=8 D=4
L A+B+CH+D=24

W oW W W




10. RE xo tiste] f(x+1) - f(x = 1) = 62> +6, f(0) = 1& W=
A7l oA f(x) 78 Aok tha2 A noll Hiske] (x + @) =
X'+ nax"! 4o 4+ oS o83k, f(x)E Fohe AAgelth

f(x) = apx"+ a1 x4 +ayx+ag(F a, # 0) 2L FOH
flx+1) - f(x=1)

=a{(x+1)"=(x-1)" +a{(x+1)" = (x=1)""1} 4+ +
a{(x+1)-(x-1)}

= 4 =6x246

AN n=3, a,=1

Lfx) =3 tax® +ax+1

fx+1) = f(x=1) = 6x2 + dasx + 2 + 241

OlBER gy =0, a1 =25, f(x) =x>+2x+1

glo] Zo] oA [ el dore 2L

@ a, @ 2a, ® na, @Qnan ® 3na,

~&B

Flx4 1) = fx=1)

:an{(x—i—l)”—(x—l)”}—i-an1(x+1) Lo (x=1)1) .

= ap{(¥" +nx"" 40 ) = (& = nx" )—l—anl(”l—i—(n—
DR = = )l
a,(2nx"t +---) +a,1{2(n-1) "2—}- e

= 2na,x"+{(n - 2) 2} o]5}] T}

2 2na,xt = 6x2 9| A

n—1=2, 2na, =6

on=3,a,=1




